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Table : Cut condition

Table 1 Cha=view of the requissmesis spplisl ke oosck Higge doowy channels. furthir explasaion should be green bers
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Table : analysis efficiency & remaining number of events
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Process Gfb] € %] € [Te]  evtspyg .
H — other Higgs decays 3743 64.6 18.0 14534
ete —qq 29489 20 610°° 38
e e —ggvv 1317.5 45.8 0.3 1664
e e —qgglv 5561.1 26.3 0.1 12623
ete” Sqqll 3319.6 4.0 0.1 135 , . L . .
P 3165 33 71072 - I’m still cqn3|der|ng vvh|_ch one is ...
ete” —qaqqw 71.5 2.2 0.3 358 (left one includes the list of background
¢ ¢ —adqalv 106.9 LEo 004 93 channels that might be better )
ete” —qaqqll 169.3 1.8 0.05 172
¢'e —qgqge (EPA) 542 210 0.15 T3
e e —qaqge (BS) 262.5 33 <10t ;
e ¢ —qggqgge (EPA) 54.2 2.2 0.14 146
e ¢ —qggqgge (BS) 262.3 3.2 8-107% 4
ey —qgqgv (EPA) 287.8 2.0 0.05 306



Distribution as an example

- Taking mmHZZ channel as an example figures

- raw(after pre-selection) or during cut stage ?

Here, list is (S+B) :

- Mpp (invariant mass)

- Mpp (recoil mass) L
T L

(- 2D, dijet-missing mass) | S L

- pro \ Heferences -

_ COS(O) Vis. negative value of missing rrll_‘g'ss is an issue. (=need

explanation)
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Table : fitting result
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L gy Mo —utu ey 2.0
L MHadf—ewutu 5.0
Cemisread 1120




Others:

- how about the “signal or not” 7



